log[sensitivity]

=-0,350)—Uu=01]?

=log
|

N

log

log -0,35

|OgVo = —0,35[.1)\—11557]
log . =-0,35L\-u - ]2
logVa= logVo+0,00
log =log +0,00

Va u,=(A-550)/50

logVo = —0,35L)~Uss7]

log = =-0,35u\—u. ]2

logVa=logVy+0,00

log =log +0,00
saturation V

log[saturation]
= -0,350)—Us01]?
=log9,-0,35

0.

EGETEGR]
VeN: 507
s=0.1
V0=-0,35 Vg =-0,%

go ==0,00 ga =0,35
=-0,35va =-0,&

557 495Ec  565EC

EGRTIEG]
V&N: 507
tS—O 1

\

495Ec  565EC

log[sensitivity]
log
log

= log-0,35

=-0,35\-u

600Ag/nm 700Ac 400

|OgVo = —0,35[.1)\—U557]
log . =-0,35L\-u - ]2
logVa= logVo+0,00
log =log +0,00
u\=(A\-550)/50

600Ag/nm 700Ac 400

logVo = —0,35L)~Uss7]

log = =-0,35u\-u ]2

logVa= logVy+0,00

log =log +0,00
saturation V

log[saturation]
= -0,350)—U:01]?
=log1,-0,35

O.

EGETEG]
VeN: 507
s=0.1
V0=-0,35 Vg =-0,%

go =-0,00 ga =0,35
vg =-0,35 vq =-0,F

557 495Ec  565EC

aduptation
V&N: 507
tS—O 1

\

495Ec  565EC

600Ad/nm 700Ac 400

600Ag/nm 700Ac 400




